22/03/2019

Replacement Freightliner Suspension Parts - Stengel Bros. Inc.

Click on the part number for information and pricing!

FC/FL/FLD/MB/M2BC/MT55/Century-Columbia, Coronado, Cascadia, Argosy, Condor — Business Class/Century Class — Front Suspensions
Key Part Number Description No. Req OEM Reference Remarks
1 DIA Hanger, Front 2 Various
Incl. 322-141 Bushing; Columbia, Coranado,
Hanger, Shackle 2 A16-14019-000
2 338-2134-01 Cascadia, Argosy & Condor
Incl. TB-73 Bushing; Columbia, Coranado,
Hanger, Shackle 2 A16-14019-001
2 338-2134-02 Cascadia, Argosy & Condor
Incl. RB-233 Bushing; Columbia, Coranado,
Hanger, Shackle 2 A16-14019-002
2 338-2134-03 Cascadia, Argosy &Condor
Incl. 322-141 Bushing; Columbia, Coranado,
Hanger, Shackle 2 A16-15402-002
3 338-2133-01 Cascadia, Argosy & Condor
Incl. RB-233 Bushing; Columbia, Coranado,
Hanger, Shackle 2 A16-15402-000
3 338-2133-02 Cascadia, Argosy &Condor
Incl. RB-263 Bushing; Columbia, Coranado,
Hanger, Shackle 2 A16-15402-001
3 338-2133-03 Cascadia, Argosy &Condor
Incl. TB-82 Bushing; Columbia, Coranado,
Hanger, Shackle 2 A16-15402-006
3 338-2133-04 Cascadia, Argosy & Condor
4 338-2247 Hanger, Shackle 2 16-14018-001
4 338-1919 Hanger, Shackle 2 680 320 1070 14k-16k Axles
4 338-1919-01 Hanger, Shackle A16-14221-001 14k-16k Axles; 4"Spring w/322-141
4 338-1919-02 Hanger, Shackle A16-14221-001 12k-20k Axles; 4" Spring w/TB-73
680 320 0370, 680
Hanger, Shackle 2 6k-9k Axles; 3"spring w/RB
5 DIA 3220203
6 RB-212 Bushing; 3/4"IDx2 1/4"0D x 4 1/4"Lg 6 680 320 0202 2.25" x 2.95" x .814"; Approximate
6 RB-233 Bushing; 3/4”"IDx2 1/4"0Dx 4 1/4" Lg 6 680322 0301 12k Axles; Replaces RB-211
6 RNK-BM Bushing; 11/4"IDx 1 1/2"0D x 4"Lg 6 680322 0550 14k & 16k Axles
6 322-141 Bushing; w/Seals A16-12399-001 Replaces PB-18
6 RB-263 Bushing; 2 1/4"0D x 5 3/8" ¢/c 2 Coronado
6 TB-82 Bushing, Threaded; Metric, M32 Thread 2 16-18227-000
6 TB-73 Bushing; 1 1/2"0D x 4”"Lg x 1 1/4" Thread 2 16-12301-000
7 334-1656 Assembly, Bolt; M20-2.5 x 160mm Lg 6
16-13470-000, 16-
Spring Pin; 1 1/4"0OD x 6 7/8"Lg x 5 3/8" c/c 6 Used w/4" Spring & RNK or TNK Bushing
8 327-487 12373-000
9 327-490 Spring Pin, Threaded; 1 1/4"-7 x 7.14"Lg x 5 3/8" c¢/c 6 16-12302-000 For TB-73 Bushing
9 327-543 Spring Pin, Threaded; 5 3/8" c/c, 1 1/4"” Thread 6 16-18213-000 Use w/TB-82
10 334-1583 Sleeve; 1 1/4"0D x 1"ID x 1"Lg 6 16-09598-000
11 334-1584 Shim; 1 7/8"0D x 1/32"Thk x 1 1/4" Hole 4 23-09860-012

http://www.stengelbros.com/suspension-and-steering-parts/suspension-parts/freightliner/

12




22/03/2019

Replacement Freightliner Suspension Parts - Stengel Bros. Inc.

http://www.stengelbros.com/suspension-and-steering-parts/suspension-parts/freightliner/

11 334-1585 Shim; 2 1/4"0D x 5/32"Thk x 1 1/4" Hole 4 23-11656-018
12 334-804 Shim; 1 3/8"ID x .046"Thk 2 16-09040-001 Shim for 3 1/2" Wide Springs
13 330-123 Side Bar; 5 5/16" ¢/c x 1"Thk, 1 1/4" Pin Holes 4 16-11890-000 Used w/4"” Wide Springs
14 330-217 Side Bar; 4 1/8” c/c, 3/8" Thk 4 680322 0020 All Models; 6k-12k Axles
14 330-357 Side Bar; 5 1/4" ¢/c 3/8" Thk 4 6803220320
15 330-218 Kit, Shackle 2 41/8" ¢/c w/RB-212
15 330-346 Kit, Shackle 2 12k Axles
15 330-373 Kit, Shackle 2 51/4" ¢/c; w/RB-233
16 330-374 Kit, Shackle 2 Incl. 330-123, 327-490 Bushings & Hdwe.
17 330-352 Kit, Shackle 2 53/8" c¢/c; w/RNK-BM
18 361-370 Kit, U-Bolt; Square Bend, Grade 8 4 680 322 0925 5/8"x3"x83/8"S
18 361-475 Kit, U-Bolt; Square Bend, Grade 8 4 680322 0725 3/4"x4"x87/8"S
18 361-200 Kit, U-Bolt; Square Bend, Grade 8 4 3/4"x4" x127/8"S
18 SP U-Bolt; Bent to Order 4 Specify Length, Width, Diameter & Bend
19 338-2391 Plate, Top/Shock Mount; LH 1 A16-15214-001
19 338-2249 Plate, Top/Shock Mount; RH 1 A16-15214-000
19 DIA Plate, Top 2 681 322 0024 3" Wide
20 325-355 Bumper, Rebound 2 16-15215-000
20 DIA Bumper, Rebound 2 681 322 0044
21 66613 Shock Absorber 2 680-323-0200
21 65482 Shock Absorber 2 680-323-0300
21 65140 Shock Absorber 2 Various
21 66648 Shock Absorber 2 16-17684-010
Consult Shock Catalog For Model Specific
Shock Absorber 2 Various
21 See Shocks Applications
22 Find Spring Assembly, Spring 2 Various See Leaf Spring Web Catalog For Details

212



